Homework #4 Biostats 518

1. Question 1
a. 
i. [bookmark: _GoBack]Method: Perform a cox regression on the data using serum LDL values as a continuous variable and death as the binary response variable. We then use a Wald test to find the 95% confidence intervals.
ii. Inference: The resulting equation has an extremely high coefficient value for death (1.42e17) with a huge standard error (1.20e24) and a p-value of 1.00. The 95% CI is between 0 to infinity/undefined. The ldl coefficient is (1.000585) with a standard error of 0.0024, a p-value of 0.87, and a 95% CI between 0.99588 and 1.005306. All of this is essentially meaningless.
b. Generated the fithrA variable with the command “1.000585 ^ (ldl – 160)”
2. Question 2
a. 
i. Method: Perform a cox regression on the data using the log of serum LDL values as a continuous variable and death as the binary response variable. We then use a Wald test to find the 95% confidence intervals.
ii. Inference: The resulting equation has an extremely high coefficient value for death (1.06e18) with a huge standard error (2.59e25) and a p-value of 1.00. The 95% CI is between 0 to infinity/undefined. The log-ldl coefficient is (1.106189) with a standard error of 0. 2430217, a p-value of 0.646, and a 95% CI between .7191 and 1.7015. 
b. Ran the “stcox logldl” command to obtain the risk ratio of logldl alone. Then ran “gen fithrB = .437521 ^ (logldl – log(160))” successfully.
3. Question 3
a. 
i. Method: Perform a cox regression on the data using the serum LDL values as a continuous variable, the square of the serum ldl value as the quadratic, continuous variable, and death as the binary response variable. We then use a Wald test to find the 95% confidence intervals.
ii. Inference: The resulting equation has an extremely high coefficient value for death (3.88e17) with a huge standard error (5.26e24) and a p-value of 1.00. The 95% CI is between 0 to infinity/undefined. The ldl-squared coefficient is 0.999985 with a standard error of 0. 000047, a p-value of 0.758, and a 95% CI between .99989 and 1.00007. The ldl coefficient is 1.003967 with a standard error of 0.0122716 and a p-value of 0.724 with a 95% CI between 0.9821164 and 1.026304.
b. Ran the “gen fithrC = 1.003967 ^ (ldl - 160) * .9999853 ^ (ldl^2 - 160^2)” command successfully.
4. Question 4
a. I couldn’t get the graph working. I was able to generate a basic Kaplan-Meier Survival Plot with the “sts graph” command, but it wouldn’t allow me to input the fithr variables we made earlier.
i. [image: ]
b. Here’s how the fits looks when I plot them:
i. [image: ]
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